
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

u l t i p l i c a t i o n  a d n e s s  

6 x 3 _______ Twelve x Two= _______ 

5 x 5 = _______  9 x 1  = _______ 

1 0 x 3 = _______ 7 x 4 = _______ 

551 x 2 _______ 8 x5 = _______ 

F i f t e e n  x  T h r e e = _______ 6 x 6  = _______ 

10 x 12 = _______ 4 x 14 = _______ 

20 x 10 = _______ 

511 1 1  x  52 _______ 

O n e  h un d re d  x  90  = _______ 

18 24 

25 9 

30 28 

40 22 

120 

36 45 

63 

56 

200 

9000

0 
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